A 303 (gil59) JSupl) B89 dlin] dasans

calal] = e giie iliks 62 oYl sl = clhasS e paiial] i ol add) ¢ 81 )L zeliad) & zaliad) 2850

19:42:36 2024-11-29 :zaliall gBse e Calall 35La) £l

Jac Glysl | gy s se | ol | el bl | g 501 el i) | lal) S | deald S T onlile  [[8ke (e 530l

I¢l.g.o,gs

) 0 ST ialac)

G

@L‘\Aﬂ d=f0
e a5l LYl
Agrrans

i ¥ sl

du ) axl)

iilasSI) el ity w3l (SN samgll 74t dojle

101-C alasd] 2y zigio paiiall Ll and) o)l350) (Sl dax i

101-C sl bl zgio paiial) jluadl apazd] (o155 JSug

101-C alasd] zay s zrgio paiial) Ll apazd] (o155 (Sagl]

s wilgd) obaadl alinf Jo



https://t.me/uaecourse
https://almanahj.com/ae/id=29590
https://almanahj.com/ae/id=29590
https://almanahj.com/ae/15chemistry1/misc
https://almanahj.com/ae/15chemistry1
https://almanahj.com/ae/15chemistry
https://almanahj.com/ae/15
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2024-11-29
https://almanahj.com/ae/15chemistry1/sheets
https://almanahj.com/ae/15chemistry1/slides
https://almanahj.com/ae/15chemistry1/keys
https://almanahj.com/ae/15chemistry1/exams
https://almanahj.com/ae/15chemistry1/quizzes
https://almanahj.com/ae/15chemistry1/book
https://almanahj.com/ae/15chemistry1/guide
https://almanahj.com/ae/15chemistry1/files
https://almanahj.com/ae/15chemistry1/files
https://almanahj.com/ae/15chemistry1/final
https://almanahj.com/ae/15chemistry1/notes
https://almanahj.com/ae/15chemistry1/reports
https://almanahj.com/ae/15chemistry1/english
https://almanahj.com/ae/15chemistry1
https://almanahj.com/ae/15chemistry1
https://almanahj.com/ae/teacher_id=584
https://almanahj.com/ae/network15
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade15uae
https://www.facebook.com/grade15uae
https://almanahj.com/s/3771d1
https://t.me/almanahj_bot
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://www.facebook.com/almanahjae/
https://bit.ly/3cm089z
https://bit.ly/31lsaeS
https://bit.ly/3rqFfOG
https://bit.ly/39dNAz9
https://t.me/uaecourse
https://almanahj.com/ae/15chemistry1
https://almanahj.com/ae/id=28557
https://almanahj.com/ae/id=28460
https://almanahj.com/ae/id=28448
https://almanahj.com/ae/id=28447
https://almanahj.com/ae/id=28230
http://www.tcpdf.org

22025-2024 Jg¥1 oyl faadll —pdize i W1 slaS
( Qoo gt (sl Joued A Z30M)

(2025-2024 Jod omilyad] Juidl

b | el S ) | sl

debesi| 5 deensl| 6 delii| 9

1

(€.9. Q=MCAT)<Yabaall Laxiica SN 5 ) juaiy 5 ) jal)l Cla ja 3 <l et 3 Jilesall g

How much heat is absorbed by 3.00 kg granite boulder 3.00 kg LS cuihall e saa lpaana A 5)all 48 L
as temperature changes from 10.0°C to 45.0°C? €45.0°C JA110.0°C [ @l daye e e
(Specific heat of granite = 0.803 J/(g.°C) (0.803 J/(9.°C) = uulall Lcgill 5l )

8.4 x10%cal QO

A
50x10°cal O B
2.0 x 104 cal C

D

O
3.0x10%cal O

2

sl allas jn A et A glia g La salal die ill 3 ) ) fpn 48Dl (o

Equal masses of metals given in the following table were left to S Jgandl 8 5alsll Sl e dvglodia J€ Sp 3
sit in the Sun at the same time and for the same length of time iyl Baall ebtg coligll uid 3 ueddl 8
Silver azdll Iron waall Golds il Aluminium ?ML The metal ki

0.235 J/(g.°C) 0.449 Jj(9.°C) 0.129 J/(9.°C) 0.897 J/(9.°C) Specific heat de sl 5)all
Which metal is the highest increasing in the temperature? f5)hall da e o Bal el al clal) -__r,-i

Aluminium g O A
Gold el 0O B
Iron 2aldl O C
Silver Acadl) O D
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AaeY) oo Ll da ) A (Aaill o) gall g Aleling) o) gall Sl adl g gl ¢ alald JSEl Caa a5 ) el fealall o5 ) el 52 jall e W e gl AU Sidalade Jiliag o
45 g Jelall dlall 2 5 jall o gin ol disall g

Using the two figures below, which of the following is correct? e b e &gt ol ul€al Laadnid
Energy of Reaction Energy of Reaction
sl aisnall \ busiall ainall
b Activated complex Activated complex
- alelazall 2lgall
_E: -g g ,g pesctans |
Reactants ] l il
alelazl) ;l;].“l ““““““““““““““““““““““““““““““““““““““““““““““““““ Products
—— P ECIT — — J""f:'“ = —l
N Reaction progress
Reaction progress
- (1) Jsadi
E:i::u‘ﬁ:?il) fiqure (1)
Energy is released in figure (1) while energy is absorbed (2) Jsal A sl i Laiy (1) g Rt Gl O A
in figure (2)
Energy is released in figure (2) while energy is absorbed (1) JSa) sl and Laiy (2) JS&0) 3 43k il O B
in figure (1)

The activation energy in figure (1) is greater than the activation (2) J<all 3 Laoll 28la (e st (1) Jga o el 28k O c
energy in figure (2)

The activation energy in figure (1) equals the activation energy (2) J=all A bpinl) 28l sl (1) J<al bl 28l O D
in figure (2)

4

(aaaill s «wiSll 5 ¢ jleat¥ly jadll) Salell Vs G jadl 4 ) s AdlaS dlilas IS

Which of the following processes have AH positive values? f3ase gl AH a8 5S5 A0l cibleal) ;_;ﬁ
[ H;0q) — H20,
1 Hzo(s) — H;0(,
1l HZO(g) i HZO(I)
v Hzou) 3 Hzo(s)

il and IV Vsl OA
i1l and IV V3l OB

land I I3 OC
Land sl O D
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S gl el g ginall ek se dplia Cllee (4 ja

What mass of methane CH, must be burned in order to

liberate 10,692 kJ of heat?

e5lall e 10,692 ki #15Y Lgim Loy 2l CHy oliad) 255 L

Molar mass 4 gl k<

AH., ., (k] /mol)

Formula dauall

Substance sl

16.04 g/mol

-891

CHa

methane il

6

1.37 g

96.3 g

192 g

385 g

o A
o B
o C

J.C.G:\ﬂ%g__ﬂ_);ﬂ Lg;j;_g_‘l'l HA TN - L_,]j—‘b a‘u?.LjA

Using Hess’s law and the changes in enthalpy for the

following reactions

COlelill ghall gonall A clually pe (g8 Ladau

adball

2C0(g) + Oz(g) = 2C0(g
N2g) + Ozg) = 2NO(g

AH = —566.0 K]
AH = —180.6 K]

What is AH for the following reaction?

¢ A Jelall AH das L

AH =?

-746.6kJ O A
~466.0kJ O B
~192.7kJ O C
-385.4kJ O D




22025-2024 Jg¥1 oyl faadll —pdize i W1 slaS
7

Gl Lalla 5 e liall 2l @l €3l 5 ) g a3a

In which of the following equations, does the change in enthalpy &)= Gslus (gl (gaaall 4 jual) (5 (A @ aladd) -_?«T &

equal standard enthalpy of formation? Pl sl
“Nagg) + Ozg) ~ NOyg an=+332y O A
NO(g) + 3 Oz(g) > NOg) si=-ss1y O B
2NO g + Oz(g) — ZNO3( m=-11625) O C
Ny + 205 — 2NOy g AH = +66.4 k] O D
8

(o) 580 (e Ao sama I SLEYLY (AS AUl g ) 2 sl L

In which of the following processes a decrease fallaill g 1) (A lass Gaaas Al Silidaal) L_gi <

in entropy of the system occurs?

Boiling of water elall lle O A
Dissolving sodium chloride in water elall 3 aguaguall 2yslS 5ligd O B
Freezing of water slall 2aas O C
Melting of methanol Jsolaadl Hlgas) O D

el o813 LE e 4
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L;'IﬁL _):‘c (:i Q@ JQU}SH JS 1;1 | PR CCP (Cels|us ji Ke|V|n \__}J) 5_)]);.” 9\_7._)_1_5 ‘ AH LAS ,«,U:.r.l (:L Laxie ¢ G ‘ S_):._“ aslll) );:j (TN}

For a process AH 510 = —160 K] AHgygtem = —160 K] <ulS 13 dawne ddae &
and ASgygiem = —400J/K at 25°C 25°C )\ a ds )8 32 ASpgiem = —400 /K 5
Which of the following is correct? ¢ e bl gl
Reaction Spontaneity Jelall it AGsystem

spontaneous Ak -279.2 kJ A

spontaneous Ak -40.8 kJ B

nonspontaneous Ak e 11760 kJ C

nonspontaneous b e 150 kJ D

10

i) R Jama 5 Aleliiall o gall i) Jana alasiuly Jeliil) de ju Jali gie oy

In the reaction : 2Hl(g) = Ip(g) + Hag) 2Hl(g) = lz(g) + Hygy :delal &
the concentration of Hl is 0.045 M at the beginning of the cdelal enaie 0.045 M HI <5 yis
reaction. At 3.00 s the concentration of Hl is 0.030 M. 0.030 M HI <7 \3.00S g0 a0

What is the average reaction rate over the given time period? ¢ dasleall Aol sl DA Jelal doju g

+0.005 mol/L.s O A

-0.005mollL.s ) B

+0.015 mol/L.s O C

-0.015mollL.s O D
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il 4y 50 el s 5 ) all dalall cllelaill 5 ) all 5o bl clleladll Cllelaill s,

Al Ja A oy

represented by the graph below?

Energy of Reaction Je L)) A8l

t @ s’

CO(g) + NO,(g)

Energy
FETN]

°+ ()
CO,(g) + NO(g)

—— e U))

Reaction progress

asal) slady) A Jelinl) il s )aka La
w30 A
3s2xEegsm B
451 nEegsa(0 C
Li2dé O D

12

Jelaill Aoy Jane g OBleletall 381 55 0 A8l Caay

The rate law for the following reaction:
aA+bB - cC+dD
is Rate = k|A|?|B]!
What happens to the rate if the concentration of A

doubles?

£ M Je il 2o ) (50t

aA+ bB —» cC+dD
Rate = k[A]?|B|!
A <5 cielis 1Y) deyull sy ke

The rate reduces by half

The rate increases four times

The rate increases three times

O A

hualll jlabay ds ped) JiS

O B

il dag ) ds ) Ala 3

C

iladal A3WE A i 318 B O

The rate doubles

)

Ao ) e laans

D
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Jeliie JSo alaty Lad Jelall 45 ) yoadl apiainy) e judl 45y )l (el gy
Using the experimental data in the following table el de ) 5il8 Lo ¢ Sl Jsaall 8 G anl) Gililall Landa

What is the rate law for the reaction?

2NO(g) + 02(g) — 2NO,(g)

Ay e ) ) 58 Sy 58 2]
Initial Rate Initial concentration Initial concentration Trial
(mol/(L.s)) [0z] (M) [NO] (M)

0.0041 0.020 0.030 1
0.0164 0.020 0.060 2
0.0328 0.040 0.060 3

Rate = k[NO][0,] O A
Rate = k[NO]?[0,]? O B
Rate = k[NO][0,]? O C

Rate = kK[NO]?[0,] O D

14

G el Gl DA e e Jelaal laalll e Sul) ey

N20s SS& Jeldy duwlys &
2N205 i 4N02+ 02

AW de i 0gd W O
Rate = k[N,Os] )
(0 Cwade 131
Kk =1X105 s isgd ds,udl Cobb acd
[N205] = 0.35M 355 0555 buts dbaselll Jolid) 48 pus anm-]

56x103Mst O A

53x105Ms*' O B

3.5x106Ms?1 O C

25x104Ms' O D
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dinall Je il ¢ L) el s ¢ Jasesll salall ¢ (a5 5haall) Jolal) de pud sanaall 5 5ladll cdiiee Jolin 01 2oty cadmy

,

2NO — N,0, A adg¥) sgdas)

alelazll slgl)

INO+2H,  NO; +H, N,O; +H; — N,O + H,0 :225%) s5las )

Dla)) e—

N,O +H, — Ny+H,0 :3aJ%¥) aglasl

N, +2H:0 2NO +2H, — Ny 42H,0 : aza) Jelad)
FENTINAY]
N0 — N0, O A
NZOZ + H2 = NZO + H20 O B
N,O+H, = N,+H0 O C
2NO+2H, — N,+2H,0 O D
16

(Keq) uslaie je ol Gailaie o) 3 sl ALaSh ol 5y Culf ot (5

Whalt is the equilibrium constant expression . HEN Jelill SFEY) culh s La
for the following reaction?

Cig + HOg = COg * Hyy

— oA
T o C
e oD
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sl ol a1 s e (laad) Jalally ¢ Laacall g anall 05 ) all A jo S0l ) 8 sl S~

In which of the equilibrium reactions below, does A J delall gleg ana Juli (535 colial oY) cdlela g

a reduction in the volume of the reaction vessel result in e , -
. . . frolill duaS Balijg Caadd) 53 OIEY
a displacement of the equilibrium to the right and the & N

amount of product increases? (6 3)ha da )y 2ie)

(at constant temperature)

PCls(g) = PCls(g) + Clx(g) O A
CO(g) + 2Hx(g) = CH3OH(g) © B

Hx(g) + Clx(g) = 2HCl(g) © ©
2N;Hy(g) + 2NO,(g) = 3N,(g) + 4H,0g) © D

18

Y v slaaall =3l i/ 5 Clelaiall 380 5 5 ol B Culi dad N Syl #5055 Cble Ll (S0 5 Gy

At 350°C, keq = 1.67x1072 for the reversible reaction =S¥ Jelall keq = 1.67x107% ¢ 350°C xic
2HI(g) = Halg) + Ia(g) 2HI(g) = Hai(g) + Ix(g)

What is the concentration of Hl at equilibrium if [Hy] i )laies 2.44X107° M s [Hy] laie oIS 03 o) xie HI 385 L

2.44x107 M and [I,] is 7.18x107°> M? €7.18x107> M sa [15]

3.24x103mM O A

1.05x10°mM O B

3.99x10¢°mM O C

1.75x10’m O D
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Ksp 42y Jeala i lak s ol W ool (€ 5l (G815 e slaie YU) 2y oy

What is the value of solubility of calcium fluoride CaF, __.;,L,.i CaF; Sl kep clS 13 CaF) 4 sudlSl 2)5ld 3,005 48 L

if the ks, for CaF, compound is 3.5%107 ! at 298 K? €208 K 5 day xe 3-5%107H

2+ =

206x10¢m QO A
202x10°M O B

4.02x10¢M O C

so6x10’M O D

20

Qsp s Ksp o 422kl LJ#JH’J@L_DJIL_‘Q&JLQQ)YQ Il JSE8 AlSa) 2day

When 400 mL of aqueous solution 0.002 M Ba(NOs), 0.002 M Ba(NO;), Al Jslaall (50 400 mL L e
and 600 mL of aqueous solution 0.008 M Na,SO, 0.008 M Na,SO4 Jlall Jglaall (30 600 ML
( ksp= 1.1x107' for BaSO, compound) (BaSO, Syall kep= 1.1x10717)
Which of the following table data is correct? fdaiaa 3G Jgand) calilal) __5‘
PREDICTING A PRECIPITATE el (5% 2358 Q.

A precipitate will not form ) &sSs o 3.84x10%° A

A precipitate will form caul) &ssSia 4.00%10° B

A precipitate will not form wul; ;s o) 4.00%10%° L

A precipitate will form cauly &St 3.84%10° D

S sl | 0,551/3 gl § il Gt (ol o0




